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1) HEERRA STAART
frfoRae RN & et aRae aga & G 9T giaene e IRasT @ -
1) WY SweaTEl 9 et & i & forg grfsTe @ siftren BT B | g8 W - UEa | 9gd 9 @ B Bl
2) Wora i S em A war A aaa ? |
3) T fRd Rt & e @t sawaeRdT JEl Bl | e Tl & Sl 899X O i giaer STee A 8
e B
4) IR, T @ B T TG, N - A, Fel, Tl UF g3 TS, WA — A, Hed, Woolt T I TN IS B
ReE
2 T e, SR T TR fafiree Sreretl & faera & et aitas ot e A Sifere guR e |
5) Tl o AN ¥ T W AT T T - IARAT WA B TN B, I FAR & THE T W T AR D €A
RaET 3 Xl A1 FFH ART TR Faeil A 1 giaen e 2 |
2) MR STAART
Afea, el T2 B T TART HAAT SR Sl SRS TNl hed & TRIFHe A JdiReh SR ol 981 Aa<d
BT AT, T ! AT FEh & T o ST Heed HS FA B TATE |
ATIReh STOART o faehTa oht 3ITae Ach T
1) Ffeat aReaE B ey | S Afeal § ot haet aw A E AT 8 IR TART R A1 SoRRT @ €9 | 6l foRar
T |
2) A 1 AR ST - g, A gar, fRiftaentst qur wEragel | o B =Ry SR e o Aet geatid e
iRt T ARG B @R |
3) e # foad of & B =nfey, s den Serwmt a8t a@ e |
4) A & HE A B AeY |, ek @ ATTRAE & AReh AT <hl Sl off €4 |
5) didente § Afeal 9% | Yohd @B A6y |

ll- Book
B-2 Transport and Communication Lesson No. (10)

1. Choose the right answers of the following from the given options :
1. In how many zones has the Indian Railways system been divided ?

a) 9 by 12
c) 16 d 14
A fag aTg foaeredl 3 & et IR & 9T |
1) SR I JUTTeRt <t feere wigalt & favifora ferar mar 2 7
(®) 9 ([@ 16
@) 12 (=) 14

2. Which one of the following is the longest highways of India ?

a) N.H.-1 b) N.H.-6 c) N.H.-7 d) N.H.-8
frfoRaa o A T - A1 RS o G e TCHABTHA & 7
(®) wE () w7



(@) w6 (¥) wATH8
3. On which river and between which two places does the National Water Way No. 1 lie ?
a) The Brahmaputra, Sadiya-Dhubri
b) The Ganga, Haldia-Allahabad
C) West Coast Canal, Kottapuran to Kollam

T Tl A w1 o e i o fR el R S a2 7

(%) A -feaar - g
(@) T - sfeqan - ToEER

() et 9 BT - HICSTIH A e
4. In which of the following year the first radio programme was broadcast ?
a) 1911 b) 1936 c) 1927 d) 1923

Ans.1)c 2)c 3)b 4)d
4) Treafolas % @ fra ad % s et wriews waia gam o ?

(=) 19m () 1927
(@) 1936 (1) 1923
I1) () 2([@) 3) (@) 4 (A)

2. Answer the following questions in about 30 words :
FRforfRaa 9o+l & IR oR1RTT 3 0 321 A ST |
1. Which activity does tranportation convey ? Name three major modes of transportation ?

Ans : Transport activity conveys tertiary activity. Land water and air are three major modes of
transportation.
1) uRas= form forararemdl ot sifdteaaa e & 7 uRae= & o9 WiRa il & AW ey |
IR UREE At foran Heldl oht ST A 2 | T, WA T a1 - RGBT & A 99 TR 2 |
2) Discuss advantages and disadvantages of pipeline transportation.
Ans : Advantages of Pipelines :
a) They areideally suited to transport the liquids and gases.
b) Pipelines can be laid through difficult terrains as well as under water.
c) Itinvolves very energy consumption.
d) Itneed very little maintenance.
Disadvantages of Pipelines :
a) ltis notfiexible.
b) Its capacity cannotbe increased once itis laid.
c) ltisdifficult to make security arrangements ifor pipelines.
d) Underground pipelines cannot be easily repaired and detection of leakage is also difficult.

YEIATEA IRABA A o1 Ud &1 ot faaemn &ifsTg |

IR : UIEUEA GRS o o :
()  OTEUETES e T 3 Terl @ uRdee @ forg sed A |
(@) drEueTEAl 6 SaE - EEE - WA 9T O @ iR s sreewar ® |
(31) = WA 9T T - AT W 98 d A @ BT E |



(a) =& ol ol STANT S SET FA BB |

IR uRde & wieat
F) RIS UREE | A i 3IE BT 2 | 39 AT v & forg € want ferar sraean 2
W) U R A aIE SaEt ST Shl SIS A1 Sgl et off gehdT |

) OTEUETEA ot GRET SRl AT 1 HST FE B |

) ST arEueTE W RETe i e ST e S A e ST IR hiSHTE S # |

3. Whatdo you mean by communication ?

Ell
T

Ans. Communication network used to send massages from one place to another.
Means of communication can be putinto two broad clases.
a) The personal communication network and
b) The mass communication network.

R’ A TIehT T T & ?
IR T A Y T A TH G 37 GO T Sl AT Y AR e B | SR @ WAl Y 3 e A et
frarsmawa® - (%) JafFaw (Personal) ¥er we 9 (@) rdwf+e (Mass ) 99r o |
4. Discuss the contribution of Air India and Indian in the air transport of India .
Ans : The Air India :- It handles forewign traffic passengers and cargo. With 27 aircraft and 16,714
employeer, Air India operates 35 destination with its own aircraft and serves 12 additional destination

through arrangements with foreign airlines. Indian Airlines was was named as 'India' w.e.f. december 8,
2005. This is country's largest domestic carrier and catersto the needs of domestic air passengers.

NIRRT A O aRasA & ST A TR e’ qon ‘Siewm’ & Anem @t fadaen it |

I wERERar (Air India) faRsh Ssmi ot saaeen e 2 | 3ae ue 27 T 9 16,714 FEER E 3R IE 35 e
T ! A IRAE il e JTART FHA B |

gfea= garenza (Air India) 39 % @ 3 Iz w1 7 | gead R ((Alliance Air) & ara fiee as 3o & 63
T ! aTg T JTATE FA B |

3. Answer the following questions in about 150 words :

3 ) fRr=feiRaa go=i IR @R T 150 916s | 619 |

1) Which are the cheif means of transportation in India /Discuss the factors affecting their development.
Ans.: Cheif means of transportation are shown in the following figure :

Land transportation is affected by a number of geographical, econimical and political factors. MOst of the
roadways and railways are found in the northern plain of India due to flat relief. The peninsular plateau
region has lesser concentration of road and railways as compared to the northern plain due ti its rugged
topography. The Himalayan mountain region has least developed network of roads due to its steep slope
and rough train. The Thardesert of Rajasthan is also not suitable for developing roads and railways.
There was no railway line between Jodhpur and Jaisalmar till 1966. Similarly, forested areas of Madhya
Pardesh and Orissa, detaic swamps of West Bengal, marshy areas of Rann of Kachchh and hilly tract of
Sahyadri are also unfavourable for the development of railways. Sahyadri can only be crisses through
gaps like Thal Ghat, Bhor Ghat and Pal Ghat to reach coastal rail heads like Mumbai, Vasco-de-Gama,
Mangalore and Kochi.

a) Therivers nd canals should have regular flow of sufficient water.



b) The presence of waterfalls, cataracts and sharp bends in the course of river hinder the
development of waterways.
c) Silting of the river bed reduces the depth of water and creates problems for navigation.
Desilting of river beds is a costly affeir.
d) Diversion of water forirrigation purposes the quantity of water and should be done carefully.
e) There should be sufficient demand for waterways to make it economically ciable mode of
transportation.
1) ¥IRA A IRTET & T W T - FIT A 8 ? T4 {18 Tl T et ATt shieahl @t faaamr i |
IR : TA, WA TN G, IRAET B A A L & | 93 U9 3ol TRas, T IRe- o I Ie6T 3 | Tl IRasd &
ST JATACAT T AT T HETERINT IRae ol |iFiford I91 ARG 9 HeRNT IRas— ol |iwiford fohar S 21
EUCTEA ST FATOT Tt T ool A H TR O wehe B, TR o siftreRtar arguers wue W € 99 Wl # | arg aRae
T U ST T R Bl 21
SATRIRTI Fgeh AT MR B I TS ASH A TS W1l 3, AR T8l W A Gt 8, 6 o=l 9 Seanienor od
AT TS A K ZI 2 | BwIerm & qdid Tow | aRase & el 1 [ A g3 2 | Ao & o A & o
TR T ST H 2 |
RSP STAAFT ehl TATAT HEA a1 BRE |
w) A quUr e W Ee v A W o gaTed e Aey |
@) AN A ool - gt a Ay st aitaser « aren srer € |
) AR AW - el @ TE A T 6 TEE w9 B o 8, e wier aRas ¥ e et 2, e 9 wee
TR A A 78 I Gehd 3 - FAed A e A v e B g |
F) o uRas o forg wate | o B 8 savae |
2) Give a detailed account of the development of railways in India and highlight theirimportance :

Ans. Rail Transport. Indian railway system is the mein artery of the country's inland transports. Indian
railways virually form the Lifeline of the country, catering to its needs for large-scale movement of traffic,
both freight and passenger, thereby contributing to economic growth and also promoting national
integration. The first rail in india was started in 1853 between Mumbai and Thane over a distance of 34
km. But the real progress started after 1857 only. The total route length of Indian railway as on 31st
March, 2006 was 63,332 km on which 13 thousand trains ran covering 7,133 stations. Indian railways
transport about 45,849 lakh passengers ans 4,782 lakh tonnes of goods ans Asia and fourth largest in the
world.

2) ¥IRG A Tt uRas=1 & o ot aute STy @2 I Ae< WX TehTal STy |

T URET WRA & NaRes e IRTeT Sl T1g TUTell 8 | A I 9 F&T & ilaeT i IHITIT el 8 3R ATt a2
FERA Y B A G SAferF AUt e T 21 38 99 ¥ R & e [ qun i gehia & for fasi
ATer fear & | TRE A T2 TERTE € 1853 W HaE qU1 A0 D 6 34 o Mo 3 3 T el WA | o o wE fawE a
1857 & T A QW &l I8 AISTS o A8 TR G| 31914, 2006 T 9RA 4 63,332 oo Mo @ ¥ - A1 21 ¢ o, oy
TR UffET 13 IR YNNIt 7,133 Y009 LTI T JA0 el 2 | A UfafeeT 48,327 3079 LTI ol WA el & | 3 UfafeT
48,327 ARG AT TAT 5,042 ARG T AIe Sl & 3 14 &G ffo Mo & Sifer ot 30 0 el B | R (ol HRT TER
TART TATS, IS AT &1 o) G 1 SHaeT & | SARI X — SHGedT UiErn o 9o 91 faga o s s\ s 2 |

3. Describe the role of road in the ecnomic development of India :



Ans.: Road Transport. India has one of the largest road networks. The total length of roads increased
from4 lakh kmin 1950-51 to 33.1 lakh km in 2007-08.
Road play a vital role in the economic development of India due to their following advantages.

a) Road play a very important role in the transportation of goods and passengers for short and medium
distances.

b) Itis comparatively easy and cheap to construct and maintain roads.

c) Road transport system estableishes easy contact between farms, field, factories and markets and
provides door-to-door service.

d) Roads can negotiate high grafients and sharp turns which railways cannot do. As such, roads can be
constructed in hilly areas also.

e) Roads act as great feeders to railways and ports, Without good and sufficient road, railways cannot
collect sufficient produce to make their operation possible. Road serve the hinterlands of the ports.

f) Theroad transportis more flexible than the rail transport. Buses and trucks may be stopped anywhere
and at any time on the road for loading and unloading passengers and goods whereas trains stop only
at particular stations.

g) Perishable commodities like vegetable, fruits and milk are transported more easily and quickly by
roads than by railways.

q: R & ek faeh # wgehl @ WAkt o1 aui= ST |
IR AgH| HT AEd |
F) W AT T T 8 g el 8, W, 99 ©- R T T ol 8 | RS ) eI o a8 -9 W Ay A
foremre €, wafen aga SI - SIS Tita o 1 U8 e |
@) AN &3 A XA T I qUIE: 3T | TET hael Fgeh 81 UE gehell B |
) FHfY e @ forg wgal @ wea A sl 2 1 IS99, Y -a7 it B @ 9 geam @ o g @ A
TART fERaT ST 2 | i ITe! i I SeArh! & ASAl e Tga i 9 Al o dhl A © |
) AEH @ WA A TR S 0 MY A B Al TG, T - T, Goolt, e, WSl 3MS @IS & & a9k
AT & TEE WA |
T) QrEEt W A H A A ST ey TgdH & o 3 gl o & wan fRar o # 1 gafeg
(Border Roads Organisation ) Si¥ Gga Goia = GRTae &= # agehl ot T fomar |
) |, 9 9 3 34 faufeadl & ww wge W o STHET eI ISTaEel S 8, s 37 §F - X 9 STt ol
AHATE |
) TS AR e v wvrer & JER A ST wEren (et 2, Fifen ggent A FRI o e oht e H wie e
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